
USER’S GUIDE

Precautions

• Please read and follow these instructions and keep this manual in a 
safe place.

• Clean this product with only a soft, dry cloth.

• Keep this product away from children.

• Make sure that this product is intact and that there are no missing 
parts.

• To avoid damage to this product, be careful not to overtighten or 
improperly thread any of the threaded fittings.

• Do not exceed the maximum load capacity.

• All photos are for illustrative purposes only.

Contents Include

• Wall plate

• Two (2) vertical mounting brackets

• Horizontal mounting bracket

• Removable mounting bracket

• 4 Removable mounting plates

• Mounting-plate bolt

• Two (2) Mounting-plate nuts

• Two (2) 6 × 40 mm mounting screws

• Two (2) 6 × 60 mm mounting screws

• 8 mm screw

• Two (2) 3/8" screw anchors

• Two (2) 4 × 12 mm machine screws

• Two (2) 5 × 12 mm machine screws

• Two (2) 6 × 12 mm machine screws

• 5 mm hex key

Vertical Mounting

1. Start with the wall plate on a flat 
surface. Orient the mounting 
plate’s bolt-head so it's facing you.

2. Place one of the vertical 
mounting brackets onto the 
right-hand side of the wall plate 
so their bolt holes are aligned. 
Hold the mounting bracket in 
place with the nut that has a 
small bolt-hole.

Tip: The shape of the nut will 
conform to the 
corresponding side of the 
wall plate.

3. Place the other vertical mounting bracket on the left-side of the wall 
plate. Hold the mounting bracket in place with the nut that has a large 
bolt-hole.

4. Insert the mounting-plate bolt through the nut that has a large 
bolt-hole and use the included hex key to screw the bolt in place until 
secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors, and use the             
6 × 40 mm or 6 × 60 mm mounting screws to secure the wall plate   
to the anchors.

Note: Use the 6 × 40 mm screws for the ASM-3 and ASM-4 speakers. 
Use the 6 × 60 mm screws for the ASM-5 and ASM-6 speakers.

9. Align the slots in the vertical mounting brackets with the mounting 
holes in the speaker. Use the machine screws to secure the speaker to 
the mounting bracket assembly. Use the 4 × 12 mm screws for the 
ASM-3, the 5 × 12 mm screws for the ASM-4, and the 6 × 12 mm 
screws for the ASM-5 and ASM-6.

Horizontal Mounting

Note: When mounting a pair of speakers horizontally, make sure to 
position the tweeters on the outside in order to achieve proper stereo 
imaging.

1. Start with the mounting plate on a 
flat surface, with the mounting 
plate’s bolt-head facing you.

2. Place the horizontal mounting bracket 
onto the mounting plate so their bolt 
holes are aligned.

3. Place the nut that has a small bolt-hole on 
the right-hand side of the wall plate, and 
the nut that has a large bolt-hole on the 
left-hand side of the wall plate, and hole 
them in place.

Tip: The shape of the nut will 
conform to the corresponding 
side of the wall plate.

4. Insert the mounting-plate bolt through the nut that has a 
large bolt-hole and use the included hex key to screw the bolt in 
place until secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors and use the 6 × 40 
mm or 6 × 60 mm mounting screws to secure the wall plate to the 
anchors.

Note: Use the 6 × 40 mm screws for the ASM-3 and ASM-4 speakers. 
Use the 6 × 60 mm screws for the ASM-5 speakers.

9. Align the horizontal mounting brackets with the mounting holes in 
the speaker, and use the machine screws to secure the brackets to 
your speaker. Use the 4 × 12 mm screws for the ASM-3, the 5 × 12 mm 
screws for the ASM-4, and the 6 × 12 mm screws for the ASM-5 and 
ASM-6.

Removable Mounting

1. Start with the mounting plate on a flat 
surface. Orient the mounting plate’s 
bolt-head so it's facing you.

2. Place the removable mounting bracket 
onto the mounting plate so their bolt holes 
are aligned. Make sure the removable 
mounting bracket is positioned so that 
when you hold the assembly with the 
swivel-action bolt-head facing up, the 
bracket’s hook is also facing up, as it will 
need to support your speaker. When 
the hook is facing up, the screw 
hole will be below the hook.

3. Place the nut that has a small 
bolt-hole on the right-hand 
side of the wall plate, and the nut that has a large bolt-hole on the 
left-hand side of the wall plate, and hold them in place.

Tip: The shape of the nut will conform to the corresponding side of 
the wall plate.

4. Insert the mounting-plate bolt through the nut that has a large 
bolt-hole, and use the included hex key to screw the bolt in place until 
secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors and use the 6 × 40 
mm mounting screws to secure the wall plate to the anchors.

9. Detemine which of removable mounting plates fits your speaker by 
aligning its mounting holes with the mounting holes in your speaker. 
They should line up perfectly. The mounting plate should be flush 
against the back of your speaker.

10. Use the provided machine screws to 
secure the removable mounting 
plate to your speaker.

Note: Use the 4 × 12 mm 
machine screws for the 
ASM-3 speaker. Use the 
5 × 12 mm machine 
screws for the ASM-4 and 
ASM-5 speakers. Use the 6 × 12 
mm machine screws for the ASM-6 speaker.

11. Lift the speaker and carefully mount it onto the 
removable mounting bracket’s hook via the removable 
mounting plate.

To permanently fix your speaker to this mount, first attach the removable 
mounting plate to the removable mounting bracket and secure it with 
the included 4 × 8 mm screw. Then mount your speaker to the removable 
mounting plate with your machine screws.

ASM-MNTKIT

Mounting the ASM-6

1. The ASM-6 requires two horizontal mounts per speaker so you'll need 
two of these kits for each one. Follow steps 1 through 4 of the 
Horizontal Mounting instructions to assemble the horizontal mounts.

2. The horizontal mounts fit vertically onto the ASM-6, one on each side 
of the speaker. Confirm the desired mounting location on your wall 
and measure two spots 4" (10.2 cm) apart, one for each horizontal 
mount.

3. At each mounting location, hold the wall plate against the wall, and 
use a pencil to mark the exact location of the mounting holes.

4. Use a drill with a 1/4" bit to drill 
holes through the pencil marks.

5. Fully insert the included screw 
anchors into the holes.

6. Position the wall plates with 
the swivel-action bolt-heads 
facing up. Align the mounting 
holes with the screw anchors 
and use the 6 × 60 mm 
mounting screws to secure 
the wall plates to the anchors.

7. Align the horizontal mounting 
brackets with the mounting 
holes in the speaker and use 
the 6 × 12 mm machine screws 
to secure the brackets to your 
speaker.

Tilting and Swiveling the Speaker

To adjust the vertical angle of the speaker, use the included hex key to 
slightly loosen the horizontal mounting bolt. Tilt the speaker as desired 
and retighten the bolt until secure.

To adjust the horizontal angle of the speaker, use the included hex key to 
slightly loosen the vertical mounting bolt. Swivel the speaker as desired 
and retighten the bolt until secure.

Important!

Always exercise caution when tilting and swiveling your speakers. Make 
sure to keep one hand on the speaker to hold it steady.

Note: The ASM-6 can be adjusted only vertically.

Specifications

One-Year Limited Warranty

Senal provides a limited warranty to the original purchaser that this 

product is free from defects in materials and workmanship under normal 

consumer use for a period of one (1) year from the original purchase date 

or thirty (30) days after replacement, whichever occurs later. Senal’s 

responsibility with respect to this limited warranty shall be limited solely 

to repair or replacement, at Senal’s discretion, of any product that fails 

during normal consumer use. Inoperability of the product or part(s) shall 

be determined by Senal. If the product has been discontinued, we 

reserve the right to replace it with a model of equivalent quality and 

function.

To obtain warranty coverage, contact Senal to obtain a return 

merchandise authorization (“RMA”) number, and return the defective 

product to Senal, along with the RMA number and proof of purchase. 

Shipment of the defective product is at the purchaser’s own risk.

This warranty does not cover damage or defect caused by misuse, 

neglect, accident, alteration, abuse, improper installation or maintenance. 

EXCEPT AS PROVIDED HEREIN, SENAL MAKES NEITHER ANY EXPRESS 

WARRANTIES NOR ANY IMPLIED WARRANTIES, INCLUDING BUT NOT 

LIMITED TO ANY IMPLIED WARRANTY OF MERCHANTABILITY OR 

FITNESS FOR A PARTICULAR PURPOSE. This warranty provides you 

with specific legal rights, and you may also have additional rights that 

vary from state to state.

© Copyright 2014 Gradus Group



Precautions

• Please read and follow these instructions and keep this manual in a 
safe place.

• Clean this product with only a soft, dry cloth.

• Keep this product away from children.

• Make sure that this product is intact and that there are no missing 
parts.

• To avoid damage to this product, be careful not to overtighten or 
improperly thread any of the threaded fittings.

• Do not exceed the maximum load capacity.

• All photos are for illustrative purposes only.

Contents Include

• Wall plate

• Two (2) vertical mounting brackets

• Horizontal mounting bracket

• Removable mounting bracket

• 4 Removable mounting plates

• Mounting-plate bolt

• Two (2) Mounting-plate nuts

• Two (2) 6 × 40 mm mounting screws

• Two (2) 6 × 60 mm mounting screws

• 8 mm screw

• Two (2) 3/8" screw anchors

• Two (2) 4 × 12 mm machine screws

• Two (2) 5 × 12 mm machine screws

• Two (2) 6 × 12 mm machine screws

• 5 mm hex key

Vertical Mounting

1. Start with the wall plate on a flat 
surface. Orient the mounting 
plate’s bolt-head so it's facing you.

2. Place one of the vertical 
mounting brackets onto the 
right-hand side of the wall plate 
so their bolt holes are aligned. 
Hold the mounting bracket in 
place with the nut that has a 
small bolt-hole.

Tip: The shape of the nut will 
conform to the 
corresponding side of the 
wall plate.

3. Place the other vertical mounting bracket on the left-side of the wall 
plate. Hold the mounting bracket in place with the nut that has a large 
bolt-hole.

4. Insert the mounting-plate bolt through the nut that has a large 
bolt-hole and use the included hex key to screw the bolt in place until 
secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors, and use the             
6 × 40 mm or 6 × 60 mm mounting screws to secure the wall plate   
to the anchors.

Note: Use the 6 × 40 mm screws for the ASM-3 and ASM-4 speakers. 
Use the 6 × 60 mm screws for the ASM-5 and ASM-6 speakers.

9. Align the slots in the vertical mounting brackets with the mounting 
holes in the speaker. Use the machine screws to secure the speaker to 
the mounting bracket assembly. Use the 4 × 12 mm screws for the 
ASM-3, the 5 × 12 mm screws for the ASM-4, and the 6 × 12 mm 
screws for the ASM-5 and ASM-6.

Horizontal Mounting

Note: When mounting a pair of speakers horizontally, make sure to 
position the tweeters on the outside in order to achieve proper stereo 
imaging.

1. Start with the mounting plate on a 
flat surface, with the mounting 
plate’s bolt-head facing you.

2. Place the horizontal mounting bracket 
onto the mounting plate so their bolt 
holes are aligned.

3. Place the nut that has a small bolt-hole on 
the right-hand side of the wall plate, and 
the nut that has a large bolt-hole on the 
left-hand side of the wall plate, and hole 
them in place.

Tip: The shape of the nut will 
conform to the corresponding 
side of the wall plate.

4. Insert the mounting-plate bolt through the nut that has a 
large bolt-hole and use the included hex key to screw the bolt in 
place until secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors and use the 6 × 40 
mm or 6 × 60 mm mounting screws to secure the wall plate to the 
anchors.

Note: Use the 6 × 40 mm screws for the ASM-3 and ASM-4 speakers. 
Use the 6 × 60 mm screws for the ASM-5 speakers.

9. Align the horizontal mounting brackets with the mounting holes in 
the speaker, and use the machine screws to secure the brackets to 
your speaker. Use the 4 × 12 mm screws for the ASM-3, the 5 × 12 mm 
screws for the ASM-4, and the 6 × 12 mm screws for the ASM-5 and 
ASM-6.

Removable Mounting

1. Start with the mounting plate on a flat 
surface. Orient the mounting plate’s 
bolt-head so it's facing you.

2. Place the removable mounting bracket 
onto the mounting plate so their bolt holes 
are aligned. Make sure the removable 
mounting bracket is positioned so that 
when you hold the assembly with the 
swivel-action bolt-head facing up, the 
bracket’s hook is also facing up, as it will 
need to support your speaker. When 
the hook is facing up, the screw 
hole will be below the hook.

3. Place the nut that has a small 
bolt-hole on the right-hand 
side of the wall plate, and the nut that has a large bolt-hole on the 
left-hand side of the wall plate, and hold them in place.

Tip: The shape of the nut will conform to the corresponding side of 
the wall plate.

4. Insert the mounting-plate bolt through the nut that has a large 
bolt-hole, and use the included hex key to screw the bolt in place until 
secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors and use the 6 × 40 
mm mounting screws to secure the wall plate to the anchors.

9. Detemine which of removable mounting plates fits your speaker by 
aligning its mounting holes with the mounting holes in your speaker. 
They should line up perfectly. The mounting plate should be flush 
against the back of your speaker.

10. Use the provided machine screws to 
secure the removable mounting 
plate to your speaker.

Note: Use the 4 × 12 mm 
machine screws for the 
ASM-3 speaker. Use the 
5 × 12 mm machine 
screws for the ASM-4 and 
ASM-5 speakers. Use the 6 × 12 
mm machine screws for the ASM-6 speaker.

11. Lift the speaker and carefully mount it onto the 
removable mounting bracket’s hook via the removable 
mounting plate.

To permanently fix your speaker to this mount, first attach the removable 
mounting plate to the removable mounting bracket and secure it with 
the included 4 × 8 mm screw. Then mount your speaker to the removable 
mounting plate with your machine screws.

Mounting the ASM-6

1. The ASM-6 requires two horizontal mounts per speaker so you'll need 
two of these kits for each one. Follow steps 1 through 4 of the 
Horizontal Mounting instructions to assemble the horizontal mounts.

2. The horizontal mounts fit vertically onto the ASM-6, one on each side 
of the speaker. Confirm the desired mounting location on your wall 
and measure two spots 4" (10.2 cm) apart, one for each horizontal 
mount.

3. At each mounting location, hold the wall plate against the wall, and 
use a pencil to mark the exact location of the mounting holes.

4. Use a drill with a 1/4" bit to drill 
holes through the pencil marks.

5. Fully insert the included screw 
anchors into the holes.

6. Position the wall plates with 
the swivel-action bolt-heads 
facing up. Align the mounting 
holes with the screw anchors 
and use the 6 × 60 mm 
mounting screws to secure 
the wall plates to the anchors.

7. Align the horizontal mounting 
brackets with the mounting 
holes in the speaker and use 
the 6 × 12 mm machine screws 
to secure the brackets to your 
speaker.

Tilting and Swiveling the Speaker

To adjust the vertical angle of the speaker, use the included hex key to 
slightly loosen the horizontal mounting bolt. Tilt the speaker as desired 
and retighten the bolt until secure.

To adjust the horizontal angle of the speaker, use the included hex key to 
slightly loosen the vertical mounting bolt. Swivel the speaker as desired 
and retighten the bolt until secure.

Important!

Always exercise caution when tilting and swiveling your speakers. Make 
sure to keep one hand on the speaker to hold it steady.

Note: The ASM-6 can be adjusted only vertically.

Specifications

One-Year Limited Warranty

Senal provides a limited warranty to the original purchaser that this 

product is free from defects in materials and workmanship under normal 

consumer use for a period of one (1) year from the original purchase date 

or thirty (30) days after replacement, whichever occurs later. Senal’s 

responsibility with respect to this limited warranty shall be limited solely 

to repair or replacement, at Senal’s discretion, of any product that fails 

during normal consumer use. Inoperability of the product or part(s) shall 

be determined by Senal. If the product has been discontinued, we 

reserve the right to replace it with a model of equivalent quality and 

function.

To obtain warranty coverage, contact Senal to obtain a return 

merchandise authorization (“RMA”) number, and return the defective 

product to Senal, along with the RMA number and proof of purchase. 

Shipment of the defective product is at the purchaser’s own risk.

This warranty does not cover damage or defect caused by misuse, 

neglect, accident, alteration, abuse, improper installation or maintenance. 

EXCEPT AS PROVIDED HEREIN, SENAL MAKES NEITHER ANY EXPRESS 

WARRANTIES NOR ANY IMPLIED WARRANTIES, INCLUDING BUT NOT 

LIMITED TO ANY IMPLIED WARRANTY OF MERCHANTABILITY OR 

FITNESS FOR A PARTICULAR PURPOSE. This warranty provides you 

with specific legal rights, and you may also have additional rights that 

vary from state to state.

© Copyright 2014 Gradus Group

A
S
M
-4



Precautions

• Please read and follow these instructions and keep this manual in a 
safe place.

• Clean this product with only a soft, dry cloth.

• Keep this product away from children.

• Make sure that this product is intact and that there are no missing 
parts.

• To avoid damage to this product, be careful not to overtighten or 
improperly thread any of the threaded fittings.

• Do not exceed the maximum load capacity.

• All photos are for illustrative purposes only.

Contents Include

• Wall plate

• Two (2) vertical mounting brackets

• Horizontal mounting bracket

• Removable mounting bracket

• 4 Removable mounting plates

• Mounting-plate bolt

• Two (2) Mounting-plate nuts

• Two (2) 6 × 40 mm mounting screws

• Two (2) 6 × 60 mm mounting screws

• 8 mm screw

• Two (2) 3/8" screw anchors

• Two (2) 4 × 12 mm machine screws

• Two (2) 5 × 12 mm machine screws

• Two (2) 6 × 12 mm machine screws

• 5 mm hex key

Vertical Mounting

1. Start with the wall plate on a flat 
surface. Orient the mounting 
plate’s bolt-head so it's facing you.

2. Place one of the vertical 
mounting brackets onto the 
right-hand side of the wall plate 
so their bolt holes are aligned. 
Hold the mounting bracket in 
place with the nut that has a 
small bolt-hole.

Tip: The shape of the nut will 
conform to the 
corresponding side of the 
wall plate.

3. Place the other vertical mounting bracket on the left-side of the wall 
plate. Hold the mounting bracket in place with the nut that has a large 
bolt-hole.

4. Insert the mounting-plate bolt through the nut that has a large 
bolt-hole and use the included hex key to screw the bolt in place until 
secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors, and use the             
6 × 40 mm or 6 × 60 mm mounting screws to secure the wall plate   
to the anchors.

Note: Use the 6 × 40 mm screws for the ASM-3 and ASM-4 speakers. 
Use the 6 × 60 mm screws for the ASM-5 and ASM-6 speakers.

9. Align the slots in the vertical mounting brackets with the mounting 
holes in the speaker. Use the machine screws to secure the speaker to 
the mounting bracket assembly. Use the 4 × 12 mm screws for the 
ASM-3, the 5 × 12 mm screws for the ASM-4, and the 6 × 12 mm 
screws for the ASM-5 and ASM-6.

Horizontal Mounting

Note: When mounting a pair of speakers horizontally, make sure to 
position the tweeters on the outside in order to achieve proper stereo 
imaging.

1. Start with the mounting plate on a 
flat surface, with the mounting 
plate’s bolt-head facing you.

2. Place the horizontal mounting bracket 
onto the mounting plate so their bolt 
holes are aligned.

3. Place the nut that has a small bolt-hole on 
the right-hand side of the wall plate, and 
the nut that has a large bolt-hole on the 
left-hand side of the wall plate, and hole 
them in place.

Tip: The shape of the nut will 
conform to the corresponding 
side of the wall plate.

4. Insert the mounting-plate bolt through the nut that has a 
large bolt-hole and use the included hex key to screw the bolt in 
place until secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors and use the 6 × 40 
mm or 6 × 60 mm mounting screws to secure the wall plate to the 
anchors.

Note: Use the 6 × 40 mm screws for the ASM-3 and ASM-4 speakers. 
Use the 6 × 60 mm screws for the ASM-5 speakers.

9. Align the horizontal mounting brackets with the mounting holes in 
the speaker, and use the machine screws to secure the brackets to 
your speaker. Use the 4 × 12 mm screws for the ASM-3, the 5 × 12 mm 
screws for the ASM-4, and the 6 × 12 mm screws for the ASM-5 and 
ASM-6.

Removable Mounting

1. Start with the mounting plate on a flat 
surface. Orient the mounting plate’s 
bolt-head so it's facing you.

2. Place the removable mounting bracket 
onto the mounting plate so their bolt holes 
are aligned. Make sure the removable 
mounting bracket is positioned so that 
when you hold the assembly with the 
swivel-action bolt-head facing up, the 
bracket’s hook is also facing up, as it will 
need to support your speaker. When 
the hook is facing up, the screw 
hole will be below the hook.

3. Place the nut that has a small 
bolt-hole on the right-hand 
side of the wall plate, and the nut that has a large bolt-hole on the 
left-hand side of the wall plate, and hold them in place.

Tip: The shape of the nut will conform to the corresponding side of 
the wall plate.

4. Insert the mounting-plate bolt through the nut that has a large 
bolt-hole, and use the included hex key to screw the bolt in place until 
secure.

5. Confirm the desired mounting location on your wall. Hold the wall 
plate against the wall at the desired mounting location, and use a 
pencil to mark the exact location of the mounting holes.

6. Use a drill with a 1/4" bit to drill holes through the pencil marks.

7. Fully insert the included screw anchors into the holes.

8. Position the wall plate with the swivel-action bolt-head facing up. 
Align the mounting holes with the screw anchors and use the 6 × 40 
mm mounting screws to secure the wall plate to the anchors.

9. Detemine which of removable mounting plates fits your speaker by 
aligning its mounting holes with the mounting holes in your speaker. 
They should line up perfectly. The mounting plate should be flush 
against the back of your speaker.

10. Use the provided machine screws to 
secure the removable mounting 
plate to your speaker.

Note: Use the 4 × 12 mm 
machine screws for the 
ASM-3 speaker. Use the 
5 × 12 mm machine 
screws for the ASM-4 and 
ASM-5 speakers. Use the 6 × 12 
mm machine screws for the ASM-6 speaker.

11. Lift the speaker and carefully mount it onto the 
removable mounting bracket’s hook via the removable 
mounting plate.

To permanently fix your speaker to this mount, first attach the removable 
mounting plate to the removable mounting bracket and secure it with 
the included 4 × 8 mm screw. Then mount your speaker to the removable 
mounting plate with your machine screws.

Compatibility

Construction

Tilt

Swivel

Maximum load capacity

Wall clearance

Wall plate dimensions

Weight

Senal ASM-series speakers 

Aluminum

90°

160°

13.3 lb. (6 kg)

2.6" (6.5 cm)

2.4" × 1.8" × 3.8" (6 × 4.5 × 9.6 cm)

14.5 oz. (410 g)

Mounting the ASM-6

1. The ASM-6 requires two horizontal mounts per speaker so you'll need 
two of these kits for each one. Follow steps 1 through 4 of the 
Horizontal Mounting instructions to assemble the horizontal mounts.

2. The horizontal mounts fit vertically onto the ASM-6, one on each side 
of the speaker. Confirm the desired mounting location on your wall 
and measure two spots 4" (10.2 cm) apart, one for each horizontal 
mount.

3. At each mounting location, hold the wall plate against the wall, and 
use a pencil to mark the exact location of the mounting holes.

4. Use a drill with a 1/4" bit to drill 
holes through the pencil marks.

5. Fully insert the included screw 
anchors into the holes.

6. Position the wall plates with 
the swivel-action bolt-heads 
facing up. Align the mounting 
holes with the screw anchors 
and use the 6 × 60 mm 
mounting screws to secure 
the wall plates to the anchors.

7. Align the horizontal mounting 
brackets with the mounting 
holes in the speaker and use 
the 6 × 12 mm machine screws 
to secure the brackets to your 
speaker.

Tilting and Swiveling the Speaker

To adjust the vertical angle of the speaker, use the included hex key to 
slightly loosen the horizontal mounting bolt. Tilt the speaker as desired 
and retighten the bolt until secure.

To adjust the horizontal angle of the speaker, use the included hex key to 
slightly loosen the vertical mounting bolt. Swivel the speaker as desired 
and retighten the bolt until secure.

Important!

Always exercise caution when tilting and swiveling your speakers. Make 
sure to keep one hand on the speaker to hold it steady.

Note: The ASM-6 can be adjusted only vertically.

Specifications

One-Year Limited Warranty

Senal provides a limited warranty to the original purchaser that this 

product is free from defects in materials and workmanship under normal 

consumer use for a period of one (1) year from the original purchase date 

or thirty (30) days after replacement, whichever occurs later. Senal’s 

responsibility with respect to this limited warranty shall be limited solely 

to repair or replacement, at Senal’s discretion, of any product that fails 

during normal consumer use. Inoperability of the product or part(s) shall 

be determined by Senal. If the product has been discontinued, we 

reserve the right to replace it with a model of equivalent quality and 

function.

To obtain warranty coverage, contact Senal to obtain a return 

merchandise authorization (“RMA”) number, and return the defective 

product to Senal, along with the RMA number and proof of purchase. 

Shipment of the defective product is at the purchaser’s own risk.

This warranty does not cover damage or defect caused by misuse, 

neglect, accident, alteration, abuse, improper installation or maintenance. 

EXCEPT AS PROVIDED HEREIN, SENAL MAKES NEITHER ANY EXPRESS 

WARRANTIES NOR ANY IMPLIED WARRANTIES, INCLUDING BUT NOT 

LIMITED TO ANY IMPLIED WARRANTY OF MERCHANTABILITY OR 

FITNESS FOR A PARTICULAR PURPOSE. This warranty provides you 

with specific legal rights, and you may also have additional rights that 

vary from state to state.

© Copyright 2014 Gradus Group


